XORE=
EPEE=FWEIE

Large diameter flange /high and medium
pressure flange professional intelligent manufacturing

I A FLFIFFL

STEEL MANHOLES
ANDHAND HOLES

HG/T 21514 ~ 21535-2014

RECREZE Materiallist

HEZERI RS
LB =il
I I I IV vV VI
Q2358  Q245R  Q345R  15CrMoR | 16CrMoR  09MnNIDR
k] 20 15CtMo | Q345 09MnNiD
($FE) ($pED) (FIE) ()

| Q2358 | Q245R

0
(i)

16Mn 15CriMo

(i) ‘ (ii4)

16MnD
(%)

09MnNID
(1)

530403

530403
(IE)

530403

530403
(F{F)

Vi VI IX X Xl

$32168 531603

532168 S31603
(WE) | (WE)

532168 | 531603 |

530408

S30408
($RE)

S30408 |

531608

531608
(#9E)

531608

S31603 | S31608
(8F) | (515

S30408
(#=iF)

532168

()

E=1 Q235B Q245R Q345R 15CrMoR 16CrMoR 09MnNiDR S30403 S30408 S32168 S31603 S31608

35CrMoA

8

30CrMoA

30CrMoA

EEOELA

fEher e

FEEEFER

84
30CrMoA

EEINER

it SRR S8, 85K AR EIEILES 30CrMo A iR L s 12 ElE ILEL.

www.zjimyfl.com E&j



Vogine

MINGYANG

Q Flange

ik =

MING YANG FLANGE

BEAFL HG/T21515-2014

PLATE FLAT WELDED STEEL PIPE LARGE DIAMETER FLANGE

BEEAFLBIFAR T
on N I=E S dwxs
w
(mm)
(400)  426x6
SFF = 450  480x6
(FFE) 500 530x6
600  630%6

B www.zjmyfl.com

D

515
570
620

720

T

%L £
D B b b1 b: H

(mm)

480 250 14 10 12 150
535 | 250 14 10 12 160
585 | 300 14 10 12 160
685 300 16 12 14 180

H:

90
90
90
92

1%
2.k
3-8
4-%
5-1g
6-1853
ELE=
1212485 ighe
 BRxKE
58 (o)
16 M16x50
20 M16x50
20 M16x50
24 M16x55



XORE=
EPEE=FWEIE

Large diameter flange /high and medium
pressure flange professional intelligent manufacturing

nEEERT AR E=AFL HG/T 21516-2014

PLATE FLANGE MANHOLES WITH HINGED COVER

1-f&H

R 2R (LB
x\ \ ARlgE  BREE 3-ipm
. X %4,
P — et | 7 4k
i@ =& i

:
6-iE=%

{

b

X Hk L Hz
\\

, 748F
i 5 8-

e | 9-

10-2E
11-2=4E(1)
| 12-Z=4E(1)

g

13- E=1H(2)
14-BHE(2)

R EZ=AFLENRT

ST AR AFRERE dwxs | | 2 d E‘Eﬁﬂ?% 1R ﬁ!ﬂ?ﬁ 12 [EE(kg)
mst £ DN g ERRE g EEKE. g HR
PN | (mm) : = | (mm) (mm) [P R
4266 83 | -
(400) 540495300 125200 28 20 22 210102 20 16 M20x85 16 32 M20x115
426x5 ~ || | 81
480x6 102 *
450 595 550330 150 200 30 22 24 220104 20 16 M20x90 16 32 M20x120 |
=T : 480x5 100 &9
(RFE) 5306 18 | -
500 645 600 355 175250 30 22 24 230104 20 20 M20x90 20 40 M20x20 |
5305 | | 115 102
630x6 181 -
600 755705410 225 300 32 28 30 240110 20 20 M24x100 20 40 M24x135
30x6 181 160

www.zjmyfl.com




e $8 17 3 =

Flange
Ao N MING YANG FLANGE

FEHmmi s a=AflL HG/T 21519-2014

PLATE FLANGE MANHOLES WITH DAVIT TO VERTICAL COVER

b Y.
1-; :%

2-thH
3%

4-7\ RSk IR R (S RLURT)
5-828
6-fET

7-48F
8-m#
9-fml

10-528
118
12-65%

13-F%
14-FEENE
15-32 i

EERHRRIFEE=AFNSEEART
g (AHRATRER duxs | D [Di| A | B | H Ha|Hs| b |bi|bo| d iBi0iES B¢ @iees BH | KEko)

- '. : Ejj DN 3 = o | | r= = i ’ E
Hy =1 '§:‘ =1 T { =
B PN | (mm) (mm) HE E}rﬁ NE E{{'ni{n?lﬁ SRE ﬁi%‘%ﬁl
480%6 110 | =
450 595550350250220104468 30 22 24 36 16 M20x90 16 32 M20x120 |
A80x%5 108 89
=S 530x6 25| -
rpm 6 500 645600375300230104493 30 22 24 36 20 M20x90 20 40 M20x120 -
(RF) 530x%5 123 | 102
630x6 189 -
600 5, - 755705430400240110548 32 28 30 36 20 M24x10020 40 M24x135

E: 1. SALRTEASRSEN, ZAUSFIERTQ2358,
2, RPFLWEEMEAd. xsRIFIRBE, DTERT I ~ IEWMERMHOAIL, FTERTVI ~ XIEFFHHERAA,
3. MEEHERESSENEENITALLREZNMNUMNE: NERHREX, nirdEE, EFIRNERNHRYT, FREAEE,

B www.zjmyfl.com



XORE=
EPEE=FWEIE

Large diameter flange /high and medium
pressure flange professional intelligent manufacturing

FEEMT

ZyEE= AFL HG/T 21520-2014

I

LIP ON FLANGE MANHOLES WITH DAVIT TO VERTICAL VOVER

1-E=5

24
3k

4-75H
5-228
6-ET5

AR (SARCUET) 7-H8F 1028 133

8-k 11-3 14-FTHENE

9-/ma 12-568 15-327#4R

Foolee

it

RFH

Lidaangibiiiaaag
U —— | g, I ] p——— ]| U -
7/ i N
B

—
LA

I

6
5
4 \J‘
R ’ dw«s
3 ’
2 la7
=
J:/D,/
l"ﬂI X
N
MFME! TGE!
:E| | X ] 1 x gﬁ E
e in! 9 AL o
el K e -
II x | T x '

www.zjmyfl.com i}



=Rt

A
]

MING YANG FLANGE

it 177

Flange

MINGYANG

gee €12 8x0€S

OLLXOEW OF 0Z OELX0SW 02  9€ b S'8E vy 825 6LL 092 00E OL¥ 0S9 SLZ 005
- 812 | | 01083 g, (fEOL)
8x08¥
89l V0T coixszw ov 0z OZLxzzW 02 | 9E OF SWE Ov 06% SLL ObZ 00 OLE S8S 09 0S¥ e
- 602 0L*08%
| | | - 8x0€9 |
898 GV GoexgEW Ov 02 SSIXEEW 02 8V ¥S S8V S 065 62L 082 00V SL¥ OLL OV8 009
- 6EY 0LX0E9
gze 2.z | | | - 8x0€£S
0LLXOEW OF 02 OELXOEW 02 95 v¥ S'8E ¥ 825 6LL 092 00€ OL¥ 059 SLL 005 En)
) - 0L*0€S 9, HUM
89L 102 . 8x08%
SSLxZZN OF 02 02Lx/2ZW 02 95 OF S¥E Ov 06% SLL O¥2 00E OLE S8S 0%9 0SY
- 602 0Lx08¥
S0z  6£2 . 9x0€9
0ELx/ZWN OV 02 S6X/ZW 02 95 ¥E §'82 82 095 60L 02 00¥ Ov¥ S2L 08L 009
- oy 8x0€9
SEL E9L o lxpzW Ov 0z O6xv2N 02 | 95 82 S22 82 SOS £0L 0SZ 0OE SBE 029 049 - or-  00S )
- 69l | | | | | 8x0ES oL H[q
T 9x08%
SZLxP2W OF 02 06xvZW 02 95 82 S22 82 8.LF £0L 0£2 052 09€ 595 SL9 0
- syl 8x08%
89€  2tv 809 " 09
x x
oy, OOZXEEW OV 0T SSLXEEW 02 8V ¥S 2§ ¥S 065 VEL 082 00V SLV OLL OV8 o/ oco
gee &lL¢ 8x0Es 005
x X .
g,z OLLXOEW OV 02 OELXOEW 02 98 v 2v vv 825 vZL 092 00E OL¥ 059 SLL o/ oce &1
891 v0zZ 8x08¥ oS
x
T SSLXLZN OF | 02 0ZLx/ZN 02 _mm O 8E OV 06V 0ZL 0VZ 00E OLE S8S OV . ,o0av (E4y)
soz Ov2 9%x0€9 i:1E2
~,yz OELXLZN OV 02 S6xieW 02 98 VE 2E 8Z 09S YLl 0LZ 00V Ov¥ S2L 08L gy oco 009
9gL P9l | | Y |  9xQ€S
_ g9y STLXYZN OF 02 06xPZW 02 98 82 92 8Z S0S 80L 0SZ 00E S8E 029 0L9 g occ 005 | o)
el OvL 9x08¥
_cp, SCTLXPZN Oy 0Z 06X¥ZN 02 95 8Z 92 8Z 8L¥ 80L 0EZ 0SZ 09€ S9S SL9 gyggy  OSY

| (Lur)
b | By P | =
Eiwﬁ HE @mm g  HE (B 3

S~ |
@P#xﬁm ERYEE Cfs
e s L S E—— R .H_‘ EfEE

g | W 7 ww) Nd | g

| a|v|a]al] sxv SR | W7

£
S
s
=
™
AN EEWEY S ES AT UEE W



